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Division (International) with a Helper Grid Name:
Solve each problem. Answers
299|2 2) 840|8 3) 3 5 5|6
1.
2,
3
4.
5.
6.
74 1]3 5 6077 6) 49 6|8 £
8.
e}
8 3 3]2 8) 6 9 9|3 9) 2 4 413
M ath 1-9 |89]78]67[56]44[33]22[11] 0 |

www.CommonCoreSheets.com



|

Division (International) with a Helper Grid

Name Answer Key

Solve each problem. Answers
1) 299]|2 2) 84 0|8 3) 355]6
-2 149 -8 105 -0 5/9 1. 149r1
0/9 04 35
-8 -0 -13/0 2. 105
19 40 55
-18 -14/0 _I5/4 3. 59rl
1 0 1
4 247
5. 86r5
6. 62
4 7/41]3 5 60 7|7 6) 4096|s 7. 416rl
-6 2047 -0 86 -0 62 233
104 60 49 8
-12 -56 - 48 . 81r1
211 4 7 16 '
-1211 - 142 -116
0 5 0
7 833]|2 8 699]|3 9 24 4|3
-8 416 -6 2133 -0 81
03 09 2 4
-2 -9 -12/4
13 019 04
-11/2 -19 -3
1 0 1
M ath 1-9 |89]78]67[56]44[33]22[11] 0 |

www.CommonCoreSheets.com



	Worksheet
	Answer Key

